TRHRAOEEE-RIVITHERR

F29 E-AYLTHRERREDEELEHGETE)
(BLAE: mg/ )

‘ BAME 103 BRE
_ eR | JrshRFAY | IR7rv7AydA| 2rsRRFAY | TRIIVIAvHA
ETE BAERT REA 191 | 0476 10.0 | 524
X155} '
ALD  25m 01382 | 0.0190 0.0009 <0.0002
50m 00004 00018 0.0001 €0.0002
L3 50m 0.0012 | 0.0006 <0.0001 | <0.0002
B2 5m 0.0045 | 0.0010 0.0008 |  0.0006
10m 0,0020 0.0005 <0.0001 <0.0002
25m 0.0014 = 00004 | 0.0002 <0.0002
50m 0.0014 <0.0002 <0.0001 <0.0002
M 5m 02515 | 0387 0.0089 |  0.0033
10m 0.0441 | 00118 0.0196 0.0053
25m 0.0004 | 0.0005 <0.0001 | <0.0002
___50m | <0.0001 | <0.0002 <0.0001 <0.0002
M@ 5m | <0.0001 | <0.0002 0.0004 <0.0002
10m 0.0002 <0.0002 0.0002 - £0.0002
25m |  <0.0001 <0.0002 0.0012 <0.0002
50m |  <0.0001 <0.0002 0.0004 <0.0002
F#  5m <0.0001 00002 | 0732 0.1
25m <0.0001 <0.0002 0.418 0.0288
@ 15m <0.0001 <0.0002 0.165 0.0432
25m <0.0001 <0.0002 0.0242 0.0036
50m <0.0001 <0.0002 0.0006 <0.0002
£ FE5m <0.0001 <0.0002 31.9 4.56
25m £0.0001 €0.0002 0.0908 0.0223
B2 EER 5.27 1.42 105 35.7
X 130t
@D 25m | 00113  0.0007 0.0008 £0.0002
50m 0.0014 _ 0.0031 <0.0001 £0.0002
JEE  [50m 0.0015 0.0008 0.0003 <0.0002
R2 |5m 00419 | 0.161 00008 | <0.0002
10m | 00049 00176 00001 | <0.0002
25m | 00023 |  0.0060 <0.0001 | <0.0002
50m 00003 | 0.0016 <0.0001 | <0.0002
B B 5m 02983 | 0471 - 0134 | 0.0289
10m 0.197 0.340 00103  0.0019
!25m 00113 0.0157 0.0005 0.0011
50m 0.0006 | 0.0003 0.0028 <0.0002
B3 [5m <00001 | <0.0002 00626 = 00172
10m | <00001 | <0.0002 0065 | 0.0136
25m <0.0001 | <0.0002 0.0431 | 0.0056
50m <0.0001 <0.0002 0.0016 | 0.0002
B 5m <0.0001 <00002 | 207 | 00149
25m <0.0001 €0.0002 0.0679 _ 0.0066
@ 15m | <0.0001 | <0.0002 0.0345 0.0045
25m <0.0001 | <0.0002 0.0114  0.0015
50m <0.0001  <0.0002 0.0074 <0.0002
d #5m | <0.0001 | <0.0002 0.725 0.0404
25m <0.0001 <0.0002 0.0080 0.0006

ERAOKEEIREOTHEL-



TRAOEEE-RIVIHER/R

®29 ERTHERROFELS GETE) (E)
(BT mg/m)

8 HElE 10AFRE
S| [ JzobnFAY | IRTV7AYIA| ZrshOF4Y | IRIrV7OviA
% FE Sfmamk PIspK 0.0142  <0.0002 00409 | 0.0195
B g 41 : :
D  25m 0.0096 | <0.0002 0.0030 | <0.0002
50m 0.0007 <0.0002 00005 |  <0.0002
ALH 50m 00013 | <0.0002 €0.0001 |  <0.0002
H2 5m 0.0060 <0.0002 0.0001 <0.0002
10m 0.0016 <0.0002 £0.0001 <0.0002
25m 0.0009 | <0.0002 <0.0001 <0.0002
50m 0.0003 <0.0002 £0.0001 | £0.0002
R 5m 00116 | <€0.0002 0.0935 | <0.0002
10m 0.0131 <0.0002 0.0017 <0.0002
25m 0.0008 <0.0002 0.0009 £0.0002
50m 0.0002 <0.0002 <0.0001 <0.0002
@ |5m <0.0001 <0.0002 0.0039 <0.0002
110m £0.0001 | <0.0002 0.0004 <0.0002
25m <0.0001 <0.0002 0.0004 <0.0002
50m £0.0001 <0.0002 0.0002 <0.0002
FEE  5m <0.0001 | <0.0002 0.0140 <0.0002
25m <0.0001 | <0.0002 0.0117 £0.0002
BEd 15m <0.0001 | <0.0002 0.0057 <0.0002
25m [ <0.0001  <0.0002 | 0.0016  <0.0002
50m <0.0001 £0.0002 0.0004 £0.0002
&  5m <0.0001 <0.0002 0.0135 <0.0002
25m <0.0001 £0.0002 0.0023 <0.0002
HhEZR EEA 0.0113 £0.0002 0.0068 <0.0002
X gk &1
JED  25m 0.0021 <0.0002 <0.0001 <0.0002
50m 0.0004 <0.0002 0.0001 <0.0002
dEE  50m 0.0008 <0.0002 £0.0001 <0.0002
B 5m 0.0052 <0.0002 0.0001 £0.0002
10m 0.0020 <£0.0002 £0.0001 <0.0002
25m 0.0004 <0.0002 <0.0001 <0.0002
50m 0.0001 <0.0002 <0.0001 <0.0002
BE |5m 0.0132 <0.0002 00014  <0.0002
10m 0.0103 <0.0002 0.0006 £0.0002
25m 00007 | <0.0002 0.0001 | <0.0002
____ |50m 00002  <0.0002 0.0002 | <0.0002
MR 5m <0.0001  <0.0002 0.0014 <€0.0002
10m <0.0001 <0.0002 00005 | <0.0002
25m <0.0001  <0.0002 0.0002 <£0.0002
50m <0.0001 <0.0002 0.0003 <0.0002
B 5m | <00001 | <0.0002 |  0.0066 <0.0002
25m <0.0001  <0.0002 0.0037 <0.0002
W& 15m | <00001 | <0.0002 | 00211 | <0.0002
25m <0.0001 = <0.0002 00103  <0.0002
50m £0.0001 £0.0002 0.0015 £0.0002
E#E  5m <0.0001 | <0.0002 00170 | <0.0002
25m £0.0001 <0.0002 0.0120 | <0.0002

EEBAORE L EDEEELT-
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F29 E-HULTRERRODELDGET =) (HiE)

TRHRIOEEE-RIVIHERR

(EAZ : mg/ )

‘ BHEE 10AHE
B . _ Mg | JxZbAFAY | IR2iv7099A| FrsbEFAY  IR21v7 0942
#T= 1FME KR 00101 |  <0.0002 0.0045 <0.0002
X 45k % |
D 25m 0.0002 <0.0002 0.0001 <0.0002
50m 0.0007 | <0.0002 £0.0001 <0.0002
dE3R  50m 0.0005 <0.0002 <0.0001 <0.0002
W2 5m | 00042 | <0.0002 <0.0001 <0,0002
10m 00020 @ <0.0002 <0.0001 <0.0002
25m 0.0008 <0.0002 <0.0001 <0.0002
50m 0.0004 <0.0002 <0.0001 £0.0002
ME  5m 0.0109 <0.0002 0.0017 <0.0002
10m 0.0095 | <0.0002 0.0005 <0.0002
25m 0.0006 | <0.0002 <0.0001 <0.0002
50m 0.0001 | <0.0002 0.0003 £0.0002
A3 5m <0.0001 | <0.0002 0.0005 <0.0002
110m <0.0001 | <0.0002 0.0003 <0.0002
25m <0.0001 | <£0.0002 0.0003 <0.0002
50m <0.0001 | <0.0002 0.0002 £0.0002
mPE  5m <0.0001 | £0.0002 0.0066 <0.0002
25m <0.0001 £0.0002 0.0052 £0.0002
@ [15m <0.0001 <0.0002 0.0046 <0.0002
25m <0.0001 <0.0002 0.0013 <0.0002
50m £0.0001 £0.0002 0.0007 <0.0002
Jt#FE  bm <0.0001 £0,0002 0.0221 <0.0002
s 256m <0.0001 <0.0002 0.0017 £0.0002
INEE REEA 0.0053 £0.0002 0.0045 £0,0002
>
LD 25m 0.0012 <0.0002 <0.0001 £0.0002
50m 0.0004 <0.0002 <0.0001 <0.0002
JEE  50m 0.0002 <0.0002 <0.0001 £0.0002
@ 5m | 00013  <0.0002 | <0.0001  <00002
10m | 00008  <0.0002 | <0.0001  <0.0002
26m |  0.0004 <0.0002 0.0003 £0.0002
50m 0.0004 <0.0002 <0.0001 €0.0002
FR 5m 0.0063 <0.0002 0.0010 <0.0002
10m |  0.0031 <0.0002 |  0.0004 €0.0002
25m 0.0002 <0.0002 0.0001 <0.0002
50m 0.0001 <0.0002 0.0002 €0.0002
Mm@ [5m <0.0001  <0.0002 0.0002 <0.0002
10m <0.0001 | <0.0002 <0.0001 £0.0002
25m <0.0001 <0.0002 0.0002 <0.0002
50m £0.0001 <0.0002 0.0002 <£0.0002
M |5m <0.0001  <0.0002 0.0578 <0.0002
25m £0.0001 £0.0002 0.0035 <0.0002
/4 [15m <0.0001 | <0.0002 0.0036 <0.0002
25m | <0.0001 | <0.0002 0.0013 - £0.0002
50m <0.0001 | £0.0002 0.0003 <0.0002
AEFE  5m <0.0001 | <0.0002 00107 | <0.0002
25m <0.0001 <0.0002 00115 |  <0.0002

RIEAORIE I ADFEEL-
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TRIOEEE-RIVITHERR

®29 E-AYLTHRERROELD GETE)HRE)
(B me/m)

| YRS 073
R | ZrshRFAY TRZIvIOvIR| ZishOFAY | TRIIVIOYIA
ET= cEEE REEN 0.0039 <0.0002 00014 | 0.0195
X 15 &}
@  [25m 0.0007 <0.0002 0.0001 <0.0002
50m 0.0002 <0.0002 <0.0001 | <0.0002
JEE  50m 0.0004 <0.0002 <0.0001 <0.0002
=® 5m 00014 | <0.0002 <0.0001 | <0.0002
10m 00009 | <0.0002 0.0003 <0.0002
25m 0.0004 <0.0002 0.0002 <0.0002
50m 0.0003 <0.0002 0.0009 0.0004
BE 5m | 00053 | <0.0002 0.0001 <0.0002
10m | 0.0031 €0.0002 <0.0001 <0.0002
25m | 00001 | <0.0002 0.0177 <0,0002
50m <0.0001 <0.0002 00001 | <0.0002
™3 5m | <00001 | <0.0002 0.0005 <0.0002
10m | <00001 | <0.0002 0.0003 <0.0002
25m <0.0001 <0.0002 0.0002 <0.0002
50m <0.0001 <0.0002 0.0001 <0.0002
M 5m <0.0001 |  <0.0002 00030 | <0.0002
25m <0.0001 <0.0002 00015 | <0.0002
@ [15m <0.0001 | <0.0002 00016 | <0.0002
25m | <0.0001 <0.0002 0.0013 | <0.0002
50m <0.0001 <0.0002 0.0005 <0.0002
JEF  5m <0.0001 | <0.0002 | 0.0042 <0.0002
25m <0.0001 <0.0002 0.0018 <0.0002
EEAORIE LR D T HELT-
F®29 E-AYLTREREROELD GET 2)HE)
(B4 : mg/mi)
FEEES DEE:E
_Mbg | JzshAFAY | TRIIVTAVIA| JiZhAFAY | TRIIVZO9A
FErm Tl EpE | |
B=E T 0.0005 | <0.0002 00002 | <0.0002
(25m T2 0.0007 | <0.0002 <0.0001 | <0.0002
pLEY T3 0.0007 | <0.0002 0.0001 | <0.0002
mEERA T4 €0.0001 | <0.0002 0.0004 | <0.0002
(50m T5 <0.0001 <0.0002 0.0001 <0.0002
BlLE) T6 0.0001 <0.0002 0.0002 <0.0002
Ml T7 | <0.0001 <0.0002 0.0002 <0.0002
(16m T8 £0.0001 <0.0002 0.0304 0.0057
LLE) T9 <0.0001 <0.0002 0.0001 | <0.0002
w2 A T 0.0010 |  0.0037 0.0004 | <0.0002
(25m T2 0.0007 | 00012 | 00008 |  <0.0002
pLE) T3 | 00005 | 00008 | 0.0011 <0.0002
Bl T4 <0.0001 = <0.0002 0.0001 <0.0002
(50m T6 | <0.0001 | <0.0002 | 0.0002  <0.0002
LlE) T6 <0.0001 = <0.0002 <0.0001  <0.0002
B T7 <0.0001  0.0003 0.0004 00002
(16m T8 <0.0001 <0.0002 0.0083 00007
pAb) T9 <0.0001 <0.0002 0.0086 0.0015
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FRHRIOEEE-FIJHEERR

#29 E-AYVTTRERROFLD GETE) #E)
(BT - me/mi)

SAIE 1043
Migs | 7r=b0FAY  IRZxv7Ov4A| ZrshOFAY | IRZIV7AYIA
BHhE® =@ 11 | 00010 <0.0002 <0.0001 | <0.0002
(25m T2 0.0009 <0.0002 <0.0001 | <0D.0002
LIk T3 0.0006 <0.0002 <0.0001 | <0.0002
EXRE 00002 | <0.0002 00035 | <0.0002
(50m T5 00001 | <0.0002 00002 | <0.0002
LLE) T6 00001 | <0.0002 00002 | <0.0002
Bl T7 <0.0001 | <0.0002 <0.0001 | <0.0002
(16m T8 <0.0001 | <0.0002 00012 | <0.0002
ELE) T9 <0,0001 | <0.0002 0.0002 | <0.0002
BhE® = T1 00010 | <0.0002 <0.0001 | <0.0002
(25m T2 00008 | <0.0002 <0.0001 | <0.0002
ElLE) T3 0.0006 ‘ <0.0002 <0.0001 | <0.0002
EES N <0.0001 <0.0002 | <0.0001 | <0.0002
(50m T5 <0,0001 | <0.0002 | <00001 | <0.0002
BLEY T <0.0001 | <0.0002 | <0.0001 | <0.0002
e 77 <0.0001 i <0.0002 | <00001 | <0.0002
(16m T8 £0.0001 <0.0002 | <0.0001 | <0.0002
i pLE) TO <0,0001 | <0.0002 <0.0001 | <0.0002
1FEE  FE T 00007 | <0.0002 <0.0001 | <0.0002
(25m T2 00006 | <0.0002 <0.0001 <0.0002
ELE) T3 00004 | <0.0002 <0.0001 <0.0002
HARA T4 <0.0001 <0.0002 <0.0001 <0.0002
(50m T5 0.0002 <0.0002 | <00001 | <0.0002
L) T6 <0.0001 ~£0.0002 <0,0001 | <0.0002
e T7 <0.0001 <0.0002 | <0.0001 | <0.0002
(16m T8 <0.0001 <0.0002 | 00002 |  <0.0002
= Llk) T9 £0.0001 <0.0002 <0.0001 | <0.0002
3FFflfe  RMI T 00003 = <0.0002 <0.0001 | <0.0002
(25m T2 0.0008 | <0.0002 00001 | <0.0002
BLEY T3 0.0003 <0.0002 | 00002 |  <0.0002
FEE T4 0.0003 = <0.0002 | <0.0001 | <0.0002
(50m T5 <0.0001 <0.0002 | <0.0001 | <0.0002
Lk T6 0.0001 ~ £0.0002 <0.0001 | <0.0002
gl T7 <0.0001 <0.0002 0.0001 <0.0002
(16m T8 <0.0001 ~ <0.0002 |  0.0006 <0.0002
L~ Llb) T9 <0.0001 <0.0002 00002 | <0.0002
GRFfElfR  EHE T1 0.0003 | <0.0002 00006 | <0.0002
(25m T2 0.0003 | <0.0002 | <0.0001 | <0.0002
ELEY . TS 00002 = <0.0002 | <0.0001 <0.0002
R T4 <0.0001 | <0.0002 | <0.0001 <0.0002
(50m T5 <0.0001 | <0.0002 <0.0001 <0.0002
LLE) T6 <0.0001 | <0.0002 | <0.0001  <0.0002
mafEl T7 <0.0001 <0.0002 00002 = <0.0002
(16m T8 | <0.0001 | <0.0002 <0.0001  <0.0002
LLE) T9 <0.0001 | <0.0002 <0.0001 <0.0002
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FRIOEEE-ZVJHERR

T28 E=ALTAERROFELO (RRRE)

(Bifr: pg/m)
EzFES 10A %
gl MR B | ZroREFAY | TRIrY7A99A | Fror0F4Y | IRIrh7Ovhz
RTEE BT EEH A 02m| 355 <0,02 0285 | <002
15m | 1.02 £0.02 0.158 0.02
B 02m| 411 0.14 2.26 054
1.5m 2.87 0.12 1.42 011
C 02m| 958 0.27 1.87 0.10
1.6m 4.65 0.18 g |- .05
ESET |
LD 25m 1.5m 0.460 <0.03 0008 | <002
50m 1.5m 0.449 <0.03 <0006 |  <0.02
AEED) 50m 1.5m 0064 | <004 <0006 | <002
R2 5m 0.2m 2.11 ‘03 0024 | <002
| 15m 271 0.1 0.022 0.05
10m 0.2m 1.23 0.06 <0.006 <0.02
! 1.5m 1.01 0.08 0.014 <0.02
25m 1.5m 0.383 002 <0.006 <0.02
50m 1.5m 0183 | <002 <0.006 <0.02
EEQ 5m 15m 10.1 | 0.16 0.419 <0.02
10m 1.5m 3.70 | 0.08 0.196 <0.02
125m 1.5m 0.261 | <0.02 0007 <0.02
50m 1.5m 0126 | <002 <0.006 0.02
M3 5m 0.2m <0005 | <002 0.082 <0.02
1.5m <0008 | <003 0025 | <002
10m 0.2m <0005 | <002 0026 | <002
1.5m <0005 | <002 0.024 <0.02
125m 1.5m <0005 | <002 0027 <0.02
50m 1.5m <0006 | <0.02 0.062 <0.02
BPa3) 26m 1.5m <0006 | <0.02 0.895 0.03
®A | 15m 0.2m <0.008 <0.02 0.854 0.04
_ 1.5m <0005 | <002 0.936 0.03
[25m 1.5m <0.005 £0.02 0451 | <002
50m 1.5m <0.006 <0.02 0.039 <0.02
AL#E@) [25m 1.5m £0.006 £0.02 0405 | <0.02
BAE®E EEHN A 02m 1.84 | <003 0.73 | <0.04
~ 15m| 126 | <003 0.29 <0.03
B 02m 5.04 | 0.08 2.0 [ <oo3
_ 1.5m 3.22 | <003 1.61 | <003
¢ 02m] 802 <0.03 4.29 . <003
1.5m 413 ! 0.05 2.38 | <po3
B g4t
Q@ 26m 15m | 046 0.13 <0.02 <0.08
50m _1.5m 0.18 | <003 £0,02 <0.03
JE ) 50m 1.5m 0.25 | <0.03 <002 | <003
B2  5m 0.2m .14 | <003 002 | <003
_ 16m| 122 | <003 002 | <003
10m 0.2m 069 | 0.03 002 | <003
1.6m 085 | <003 <0.02 <0.03
25m 1.6m 0.28 . <003 002 | <003
150m 1.5m 013 <0,03 0.07 | <0.03
MR 5m  1.5m 4.36 <0.03 0280 | <0.02
|10m 1.5m 1.86 <003 0088 | <002
125m 1.5m 0.17 £0.03 - <0006 | <0.02
150m 1.5m 0.07 £0.03 <0.006 £0.02
B3 [5m 0.2m 0.04 <0.03 0.03 <0.03
1.5m <0.02 <0.03 0.02 <0.04
110m 0.2m <0.02 <0.03 0.02 | <p.04
_— <0.02 <0.03 0.03 - <004
25m 1.5m <0.01 <0.03 004 <0.03
50m 1.5m <0.02 <0.03 0.05 | <003
BEPE3) 25m 1.5m <0.02 £0.08 0.92 | <003
P4  15m 02m|  <0.01 <0.03 T <0.04
. 1.5m <0.01 <0.03 1.01 <004
25m 1.5m <0.01 <0.03 042 | <003
50m 1.5m <0,02 <0.03 0.05 <0.03
AEFE@ 25m 1.5m £0.01 £0.03 0.49 £0.03
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FRIOEEE-FVJHEERR

28 E-HYUTRBERROELS (RPIRE) (i)

(B wg/m)
BHE 105 %
= _ e s [ Jrofofdy | ThIngayer| JrshoFdy | TRIrvaOvhA
PRk 1HD®E REA A 02m 1.36 <0.02 0.305 | <002
15m | 0326 <0.02 0311 | <002
B 02m| 318 <0.02 1.86 <002
1.5m 169 | <002 1.45 | <002
C 0.2m 488 <0.02 225 <002
1.5m 2.44 <0.02 1.83 | <002
ERC i |
D 25m 1.5m 0276 | <002 <0.006 <0.02
50m 1.5m 0.087 | <002 <0006 | <002
L&D 150m 1.5m D357 | %003 <0006 | <002
W@ [5m 0.2m 0663 | <002 0011 | <002
‘ 1.5m 0778 | <002 0.007 | <0.02
[10m 0.2m 0499 | <002 <0006 | <002
‘ 1.5m 0513 | <002 0.020 <0.02
25m 1.5m 0180 | <0.02 <0.006 £0.02
50m 1.5m 0.097 <0.02 <0.006 <0.02
P2 5m 1.5m a8 £0.02 0.366 €0.02
10m 1.5m 1.22 €0.02 0.162 <0.02
25m 1.5m 0.100 <0,02 0.010 <0.02
50m 1.5m 0084 | <002 <0.006 <0.02
3 [5m 0.2m <0.005 £0.02 0.036 £0.02
~ 1.5m <0.005 £0.02 0.032 <0,02
[10m 02m |  <0.005 <0.02 0.019 <0.02
| 1.5m <0.005 <0.02 0.033 €0.02
25m 1.5m | <0.005 <002 0.025 <0.02
150m 1.5m <0.008 <0.02 0.046 £0,02
B3 [25m 1.5m <0.006 £0.02 0558 <0.02
74 [15m 0.2m |  <0.005 <002 0.468 <002
| 1.5m <0.005 £0.02 0.466 <0.02
125m 1.5m | <0.005 <002 0.190 <0.,02
50m 1.5m | <0.006 <0.02 0.038 <0.02
JEFEQ) 25m 1.5m | <0005 | <0.02 0.216 <0.02
3ME EER A 02m| 0572 <0.02 o195 | <002
15m | 0246 <0.02 0134 | <002
E 0.2m 1.58 <0.02 0.900 | <002
1.5m 0.882 €0.02 0930 | 0.03
C DZm 1.88 | <0.02 I K <002
1.5m 1.28 | <007 1.10 <0.02
ELis
D 25m 1.5m 0123 | <002 <0006 | <002
50m 1.5m 0086 | <0.02 <0.006 <0.02
dLED 50m 1.5m 0086 | <0.02 <0.006 <002
B2 5m 0.2m 0258 | <002 | 000B | <002
| 15m 0245 <002 <0.006 <0.02
110m D.2m 0164 <002 <0.006 <0,02
| 15m 0159 <002 €0.006 | <002
25m 1.5m 0.084 €0.02 <0006 <002
50m 1.5m 0.032 £0.02 <0.006 <0.02
ME2 5m 1.5m 1.77 <€0.02 0,108 €0.02
[10m 1.5m 0.598 €0.02 0.044 <002
125m 1.5m 0.035 0,02 <0.006 <0.02
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125m 1.5m |  <0.005 002 | 0008 | <002
\50m 1.5m £0.006 <0.02 0040 | <£0.02
P33 25m 1.5m <0.005 €0.02 0.433 | <002
T4 [15m 0.2m |  <0.005 0,02 0.393 <0.02
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25m 1.5m <0.005 002 [ 0208 | <002
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